" Lab Quiz
" Pre-lab Lecture
*¢* Your Colony Results
¢ Tissue Culture
¢ Safety + Technical Tips



e OH willxbe in " (Su 7:30-9, Tu 4-5 pm)
o #1 —\ﬁ\ﬁes, #2 — careful with backbone size
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— Explain controls (briefly), don’t just list them ¥ JyL;‘fx‘,’ *
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e Methods are much improved

— Carefully consider thlejrpur ose of each

el .
£t 7Q, —> Sslve DNA *f-mo w\Q,nEJ £ cloml«:g
—> \JLIFC:) “\’L\,\-]- U’Q"bww WO/K

B ™ _&{ Haad o{g\kbkﬂije‘s'\' N/kg,d’ et d'ufe,c:}b e



- e uX
\ -(\»)( Q\O\SM\A‘) ! CU:RJ\
5@\0\\- o c,uér 7‘3\05
Interpre% You;/hgatlon Results
Group Colour |[pCX-EGFP (#)|[bkb + lig (#) [bkb + ins, no lig (#) [bkb + Ins, lig 1 (#) |bkb + ins, lig 2 (#)
Hypothetical Datal|10M 0 2 100 100
Yellow )
Green 1 |
Blue )
Pink
Purple )
Consider...

e Why did only the positive control work for many groups?

 What does the no ligase vs. the no insert sample control for?
Which one do you expect to have more colonies?
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 How big is the variation for identical samples, and what are
the possible sources of error causing the variation?



Tissue Culture (TC) Environment

 What will “feel” physiological to a cell?
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Tissue Culture (TC) Medium

e What do cells need to survive?
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Today in Lab

e Set up gels with diagnostic digest samples
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* While the gels run, you will join me for a TC

demonstration and practice lab
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e At 3:30 pm, you will discuss the paper by

Sonoda, et al. with Prof. Bevin
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e OH will be in 16-336 (Su 7:30-9, Tu 4-5 pm)
e #1 —fine, #2 — careful with backbone size
e Methods are much improved!

— Explain controls (briefly), don’t just list them

— Carefully consider the purpose of each gel



Interpreting Your Ligation Results

Group Colour |[pCX-EGFP (#) [bkb + lig (#)||bkb + ins, no lig (#)(bkb + ins, lig 1 (#)|bkb + ins, lig 2 (#)

Hypothetical Data||1000 0 2 100 100

Yellow 4000 0 0 0 0

Green 1884 1 144 380 656

Blue 2000 0 168 520 1031

Pink 426 0 0 0 0

FPurple 300 0 0 0 0

Consider...

e Why did only the positive control work for many groups?

 What does the no ligase vs. the no insert sample control for?
Which one do you expect to have more colonies?

 How big is the variation for identical samples, and what are
the possible sources of error causing the variation?






